Nerf Bar
FITS EZGO TXT




\

NERF BAR INSTRUCTIONS
EZGO TXT

;O TR

\. Front Bracket ,

k Rear Bracket

Bag# Application Hardware Qty
1 Nerf Bar to Mounting Bracket Hex Bolt M8*25 8

\ Lock Nut M8 8

\ 2 Mounting Bracket to Front and Hex Bolt M10*65 6

Rear Brackets
. Flat Washer M10 6
Spring Washer M10 6
N WWW.STEELENGGOLFCART.COM
V. / Pagd

. N

~

N N N N N N \’\N\/\ N N

£ A 4 i

se

‘

pa

=& & F £

£ £ &

0 “



NERF BAR INSTRUCTIONS Q‘
EZGO TXT

Front Bracket

Rear Bracket

Mounting Bracket

] GlP G i
ﬂ ? L e
ﬂ . 7/ ‘&’ Nerf bar

“ brackets using hardware #2. Install nerf bar to mounting bracket using hardware #1.

Attach front bracket and rear bracket to cart. Install mounting bracket on front and rear é
Repeat on the other side.

4

N WWW.STEELENGGOLFCART.COM X
BN N NN N N N NN N




/7 °

-V RETURN MERCHANDISE AUTHORIZATION

Dear Valued Customer,

Thank you for choosing Steeleng Golf Cart Accessories for your golf cart needs.

We apologize for the issues you are having with your purchase. We strive to offer the absolute best

quality at the absolute best price.

To best serve you, we do need a little information to help process your return and/or exchange faster.

Please complete the following and include this entire form with your return.

Name

Shipped To Address STATE

Purchased with: eBay Direct Phone Order

This is for EXCHANGE REFUND

Please describe reason for return:-

ZIP

Our Return Address:

Steeleng Golf Cart Accessories
3309 Laurens Road,
Greenville, SC 29607

Tele: 864-675-1103

For Office Use Only:
Received By: Date

Refund Amount Exchange Issued

**Steeleng Golf Cart Accessories reserves the right to charge a 15% restocking fee for all returned

and/or exchanged items.



